
Experiment 1

Using Standard Data Set from Current Experiment.

4-Parameters Fit: Y=(A-D)/(1+(X/C)^B)+D

20/50/80%: X = 1617,957 / 5582,148 / 19259,089    Y = 0,509 / 1,265 / 2,020

A: 0,005 (+/-0,003), B: 1,119 (+/-0,023), C: 5582,148 (+/-334,220), D: 2,524 (+/-0,079)

chi2=0,001, RMS=0,008, r^2=1,000

Standards Report:

Std # Conc Well ReplicatesMean SD

1 38 G1 0,009 0,003 0,008

  G2 -0,003   

2 82 F1 0,033 0,029 0,006

  F2 0,025   

3 204.8 E1 0,089 0,079 0,014

  E2 0,069   

4 512.0 D1 0,188 0,167 0,03

  D2 0,146   

5 1280.0 C1 0,43 0,404 0,036

  C2 0,379   

6 3200.0 B1 0,9 0,889 0,016

  B2 0,877   

7 8000 A1 1,579 1,514 0,092

  A2 1,449    

 

Sample Report:

Sample ID Well Replicates Mean Conc SD (Conc) Conc pg/ml Serum Nr %CV

S01 A3 1,03 1,015 3899,239 122,153 38992,39 1 (1:10) 3,13

 A4 1    

S02 B3 1,097 1,106 4449,124 77,106 44491,24 2 (1:10) 1,73

 B4 1,114    

S03 C3 1,32 1,318 6026,37 18,17 60263,7  3 (1:10) 0,30

 C4 1,317    

S04 D3 0,989 1,001 3822,105 100,233 38221,05 4  (1:10) 2,62

 D4 1,014    

S05 E3 0,733 0,728 2475,724 30,344 24757,24  5 (1:10) 1,23

 E4 0,723    

S06 F3 0,767 0,748 2560,151 120,481 25601,51  6 (1:10) 4,71

 F4 0,728    

S07 G3 1,095 1,088 4334,939 66,546 43349,39  7 (1:10) 1,54

 G4 1,08    

S08 H3 1,066 1,031 3995,154 286,474 39951,54  8 (1:10) 7,17

 H4 0,997    

S09 A5 0,217 0,213 647,532 19,35 32376,6 1 (1:50) 2,99

 A6 0,208    

S10 B5 0,399 0,418 1301,977 90,554 65098,85 2 (1:50) 6,96

 B6 0,437    

S11 C5 0,454 0,46 1443,739 26,941 72186,95 3(1:50) 1,87



 C6 0,465    

S12 D5 0,243 0,249 759,197 26,133 37959,85 4 (1:50) 3,44

 D6 0,255    

S13 E5 0,177 0,181 552,166 17,062 27608,3 5  (1:50) 3,09

 E6 0,185    

S14 F5 0,172 0,18 550,658 36,255 27532,9 6  (1:50) 6,58

 F6 0,189    

S15 G5 0,228 0,243 740,739 65,187 37036,95 7  (1:50) 8,80

 G6 0,258    

S16 H5 0,302 0,312 957,5 47,076 47875 8  (1:50) 4,92

 H6 0,323    

S17 A7 0,049 0,053 164,53 17,729 32906 1 (1:200) 10,78

 A8 0,057    

S18 B7 0,157 0,163 497,961 25,518 99592,2 2 (1:200) 5,12

 B8 0,169    

S19 C7 0,144 0,145 442,377 2,123 88475,4 3 (1:200) 0,48

 C8 0,145    

S20 D7 0,07 0,07 217,245 0 43449 4 (1:200) 0,00

 D8 0,07    

S21 E7 0,058 0,06 184,808 6,59 36961,6 5 (1:200) 3,57

 E8 0,061    

S22 F7 0,052 0,056 173,911 17,654 34782,2 6 (1:200) 10,15

 F8 0,06    

S23 G7 0,064 0,066 203,386 6,547 40677,2 7 (1:200) 3,22

 G8 0,067    

S24 H7 0,099 0,097 299,469 8,553 59893,8 8 (1:200) 2,86

 H8 0,095  

  High %CV 2,80

 Median %CV 4,83

 Low %CV 4,52



Experiment 2

Using Standard Data Set from Current Experiment.

4-Parameters Fit: Y=(A-D)/(1+(X/C)^B)+D

20/50/80%: X = 2306,356 / 9858,426 / 42139,437    Y = 0,626 / 1,562 / 2,498

A: 0,001 (+/-0,001), B: 0,954 (+/-0,009), C: 9858,426 (+/-461,676), D: 3,122 (+/-0,075)

chi2=0,000, RMS=0,003, r^2=1,000

Standards Report:

Std # Conc Well ReplicatesMean SD

1 38 G1 0,012 0,01 0,002

  G2 0,009   

2 82 F1 0,04 0,036 0,006

  F2 0,032   

3 204.8 E1 0,087 0,081 0,008

  E2 0,076   

4 512.0 D1 0,188 0,174 0,021

  D2 0,159   

5 1280.0 C1 0,407 0,39 0,024

  C2 0,373   

6 3200.0 B1 0,894 0,797 0,137

  B2 0,7   

7 8000 A1 1,445 1,406 0,054

  A2 1,368    

 

Sample Report:

Sample ID Well Replicates Mean Conc SD (Conc) Conc pg/ml Serum Nr %CV

S01 A3 0,902 0,864 3593,632 328,704 35936,32 1 (1:10) 9,15

 A4 0,825    

S02 B3 1,024 0,995 4440,553 281,836 44405,53 2 (1:10) 6,35

 B4 0,966    

S03 C3 1,236 1,202 6031,971 405,447 60319,71  3 (1:10) 6,72

 C4 1,169    

S04 D3 0,884 0,86 3575,552 200,02 35755,52 4  (1:10) 5,59

 D4 0,837    

S05 E3 0,678 0,656 2453,528 158,247 24535,28  5 (1:10) 6,45

 E4 0,633    

S06 F3 0,689 0,654 2448,557 242,455 24485,57  6 (1:10) 9,90

 F4 0,62    

S07 G3 0,998 0,989 4399,454 86,922 43994,54  7 (1:10) 1,98

 G4 0,98    

S08 H3 1,033 1,014 4568,859 193,081 45688,59  8 (1:10) 4,23

 H4 0,994    

S09 A5 0,194 0,207 612,509 61,434 30625,45 1 (1:50) 10,03

 A6 0,22    

S10 B5 0,343 0,35 1120,803 34,906 56040,15 2 (1:50) 3,11

 B6 0,356    

S11 C5 0,392 0,388 1269,488 22,216 63474,4 3(1:50) 1,75



 C6 0,384    

S12 D5 0,213 0,219 651,144 26,271 32557,2 4 (1:50) 4,03

 D6 0,224    

S13 E5 0,155 0,16 458,915 22,585 22945,75 5  (1:50) 4,92

 E6 0,165    

S14 F5 0,159 0,164 470,113 20,397 23505,65 6  (1:50) 4,34

 F6 0,168    

S15 G5 0,196 0,207 610,839 49,597 30541,95 7  (1:50) 8,12

 G6 0,217    

S16 H5 0,28 0,285 880,904 22,819 44045,2 8  (1:50) 2,59

 H6 0,289    

S17 A7 0,074 0,065 170,459 36,472 34091,8 1 (1:200) 21,40

 A8 0,056    

S18 B7 0,157 0,156 446,165 4,499 89233 2 (1:200) 1,01

 B8 0,155    

S19 C7 0,131 0,136 381,621 19,826 76324,2 3 (1:200) 5,20

 C8 0,14    

S20 D7 0,08 0,077 203,68 14,409 40736 4 (1:200) 7,07

 D8 0,073    

S21 E7 0,063 0,06 157,604 10,066 31520,8 5 (1:200) 6,39

 E8 0,058    

S22 F7 0,058 0,053 136,37 19,902 27274 6 (1:200) 14,59

 F8 0,048    

S23 G7 0,081 0,071 187,726 40,864 37545,2 7 (1:200) 21,77

 G8 0,061    

S24 H7 0,1 0,094 253,707 27,334 50741,4 8 (1:200) 10,77

 H8 0,087

 High %CV 6,30

 Median %CV 4,86

 Low %CV 11,02



Experiment 3

Using Standard Data Set from Current Experiment.

4-Parameters Fit: Y=(A-D)/(1+(X/C)^B)+D

20/50/80%: X = 1831,176 / 6784,052 / 25133,226    Y = 0,513 / 1,283 / 2,053

A: -0,001 (+/-0,002), B: 1,059 (+/-0,019), C: 6784,052 (+/-446,204), D: 2,566 (+/-0,088)

chi2=0,000, RMS=0,007, r^2=1,000

Standards Report:

Std # Conc Well ReplicatesMean SD

1 38 G1 0,01 0 0,013

  G2 -0,009   

2 82 F1 0,034 0,024 0,013

  F2 0,015   

3 204.8 E1 0,078 0,072 0,008

  E2 0,066   

4 512.0 D1 0,164 0,154 0,013

  D2 0,145   

5 1280.0 C1 0,382 0,369 0,018

  C2 0,356   

6 3200.0 B1 0,878 0,801 0,109

  B2 0,724   

7 8000 A1 1,411 1,394 0,024

  A2 1,377    

 

Sample Report:

Sample ID Well Replicates Mean Conc SD (Conc)Conc pg/ml Serum Nr %CV

S01 A3 0,83 0,845 3465,929 122,499 34659,29 1 (1:10) 3,53

 A4 0,86    

S02 B3 1,066 1,031 4662,704 348,41 46627,04 2 (1:10) 7,47

 B4 0,997    

S03 C3 1,219 1,197 5981,169 268,961 59811,69  3 (1:10) 4,50

 C4 1,176    

S04 D3 0,848 0,838 3428,526 77,046 34285,26 4  (1:10) 2,25

 D4 0,829    

S05 E3 0,626 0,62 2306,37 35,996 23063,7  5 (1:10) 1,56

 E4 0,615    

S06 F3 0,641 0,63 2350,526 72,622 23505,26  6 (1:10) 3,09

 F4 0,619    

S07 G3 0,971 0,955 4140,823 147,571 41408,23  7 (1:10) 3,56

 G4 0,939    

S08 H3 1,005 0,989 4370,36 148,812 43703,6  8 (1:10) 3,41

 H4 0,974    

S09 A5 0,196 0,201 662,436 23,825 33121,8 1 (1:50) 3,60

 A6 0,206    

S10 B5 0,357 0,356 1210,521 5,267 60526,05 2 (1:50) 0,44

 B6 0,355    

S11 C5 0,347 0,35 1186,368 13,107 59318,4 3(1:50) 1,10



 C6 0,352    

S12 D5 0,185 0,19 625,485 23,684 31274,25 4 (1:50) 3,79

 D6 0,195    

S13 E5 0,133 0,14 458,428 30,064 22921,4 5  (1:50) 6,56

 E6 0,146    

S14 F5 0,144 0,149 489,558 23,218 24477,9 6  (1:50) 4,74

 F6 0,154    

S15 G5 0,184 0,187 615,444 14,188 30772,2 7  (1:50) 2,31

 G6 0,19    

S16 H5 0,262 0,268 894,389 32,246 44719,45 8  (1:50) 3,61

 H6 0,275    

S17 A7 0,048 0,044 151,446 15,996 30289,2 1 (1:200) 10,56

 A8 0,041    

S18 B7 0,155 0,151 496,128 18,591 99225,6 2 (1:200) 3,75

 B8 0,147    

S19 C7 0,116 0,115 380,294 2,292 76058,8 3 (1:200) 0,60

 C8 0,115    

S20 D7 0,068 0,065 217,489 13,644 43497,8 4 (1:200) 6,27

 D8 0,062    

S21 E7 0,052 0,05 169,2 9,121 33840 5 (1:200) 5,39

 E8 0,048    

S22 F7 0,051 0,048 162,748 13,691 32549,6 6 (1:200) 8,41

 F8 0,045    

S23 G7 0,067 0,061 204,623 27,3 40924,6 7 (1:200) 13,34

 G8 0,055    

S24 H7 0,095 0,088 293,082 29,605 58616,4 8 (1:200) 10,10

 H8 0,082

  High %CV 3,67

 Median %CV 3,27

 Low %CV 7,30

Intra-assay Inter-Assay

 High 4,25666008 %CV High 3,40532807 %CV

 Median 4,31981966 %CV Medium 3,45585573 %CV

 Low 7,61668716 %CV Low 6,09334973 %CV


